[bookmark: _Toc395386169]APPENDIX A: GLOSSARY OF VARIABLES
The variables exist for the poor and rich separately in the model.
[bookmark: _Toc395388923]Table A.1. The list of variables of the model.
	Variable
	Definition

	Children
	Children represent the number of children,                                                                                                                                                                                                  who are 0-14-year-olds, born into low or high level of income family. 

	
	

	HQE
	High-quality education that offers highly qualified education from the high school to university graduation.

	LQE
	Low-to-average quality education represents “not high quality” education.

	Students in HQE
	The number of students, who are 15-24-year-old, in HQE.

	
	

	Students in LQE
	The number of students, who are 15-24-year-old, in LQE.

	Enrollment rate to HQE
	The rate of student enrollment to HQE.

	Enrollment rate to LQE
	The rate of student enrollment to LQE.

	HS SLF
	People among highly skilled salaried labor force,                                                                                                                                                                    who are 25-54-year-old, coming from poor or rich family, after receiving HQE.

	
	

	SS SLF 
	People among semi-skilled salaried labor force,                                                                                                                                                                          who are 25-54-year-old, coming from the poor or rich family, after receiving LQE.

	
	

	US SLF
	People among unskilled salaried labor force,                                                                                                                                                                                 who are 18-54-year-old, coming from the poor or rich family.

	
	

	Retired LF
	Retired people, who are over 55-year-old, are defined for all skill levels.

	Unemployment ratio
	Unemployed labor force divided by labor force. (Also calculated separately for the poor and the rich). 

	Annual average salary
	The annual average salary of the poor and the rich among the poor and the rich’s salaried labor force

	The ratio of annual average salaries
	The ratio of the annual average salary of the rich over the annual average salary of the poor



[bookmark: _Toc395386164]APPENDIX B: units of measurement for GENERAL variables & parameters
	Variables & Parameters
	Units

	Poor & Rich Children
	people

	Birth fraction for 
Poor & Rich
	1/year

	Net birth rate of 
poor & rich children
	people/year

	Child Labor
	people

	Working rate
	people/year

	Growth time
	1/year

	Enrollment rate to HQE
	people/year

	Enrollment rate to LQE
	people/year

	Base fraction
	1/year

	Enrollment fraction
	1/year

	Students in HQE
	people

	Students in LQE
	people

	Graduation rate from HQE & LQE
	people/year

	Graduation fraction
	1/year

	Drop fraction
	1/year

	HS/SS/US Poor & Rich
	people

	Average working time
	year

	Retired HS/SS/US Poor & Rich
	people

	Retirement rates
	people/year

	Death fraction for 
Poor & Rich
	1/year

	Unemployment ratio
	dimensionless

	Annual average salary
	TL/year

	The ratio of annual average salaries
	dimensionless

	Available Total Jobs*
	people

	Net job growth fraction
	1/year

	Net job growth rate*
	people/year



[bookmark: _GoBack]*Jobs’ unit is introduced to the model as people to define an available jobs for people.
APPENDIX C: MODEL EQUATIONS
access to SS jobs for unemployed HS poor= IF THEN ELSE( potential unemployed hs poor>0 , IF THEN ELSE(total potential unemployment among HS>0, potential unemployed hs poor min((SS jobs/total potential unemployment among HS), 1), 0), 0)
Units: people
access to SS jobs for unemployed HS rich=IF THEN ELSE( potential unemployed hs rich>0, IF THEN ELSE(total potential unemployment among HS>0,  potential unemployed hs rich*min((SS jobs/total potential unemployment among HS),1), 0 ), 0)
Units: people
access to US jobs for unemployed SS poor=IF THEN ELSE( potential unemployed ss poor>0, IF THEN ELSE(total potential unemployment among SS>0,  potential unemployed ss poor* min((US jobs/total potential unemployment among SS),1), 0), 0) Units: jobs
access to US jobs for unemployed SS rich=IF THEN ELSE( potential unemployed ss rich>0, IF THEN ELSE(total potential unemployment among SS>0, potential unemployed ss rich*min((US jobs/total potential unemployment among SS),1), 0 ),0)
Units: people
"actual # of ss jobs"=SS jobs-total access to SS jobs for unemployed HS
Units: people
"actual # of us jobs"=US jobs-total access to US jobs for unemployed SS
Units: people
Actual HS Employed Poor=Potential HS Employed Poor
Units: people
Actual HS Employed Rich=Potential HS Employed Rich
Units: people
Actual SS Employed Poor=Potential SS Employed Poor+access to SS jobs for unemployed HS poor
Units: people
Actual SS Employed Rich=Potential SS Employed Rich+access to SS jobs for unemployed HS rich
Units: people
Actual Unemployment among HS poor=potential unemployed hs poor-access to SS jobs for unemployed HS poor
Units: people
Actual Unemployment among HS rich=potential unemployed hs rich-access to SS jobs for unemployed HS rich
Units: people
Actual Unemployment among SS poor=potential unemployed ss poor-access to US jobs for unemployed SS poor
Units: people
Actual Unemployment among SS rich=potential unemployed ss rich-access to US jobs for unemployed SS rich
Units: people
Actual Unemployment among US poor=potential unemployed us poor
Units: people
Actual Unemployment among US rich=potential unemployed us rich
Units: people
Actual US Employed Poor=Potential US Employed Poor+access to US jobs for unemployed SS poor
Units: people
Actual US Employed Rich=Potential US Employed Rich+access to US jobs for unemployed SS rich
Units: people
aff ratio of priv edu for poor=Annual avg salary for poor/Annual avg education fees
Units: Dmnl
affratio of priv edu for rich=Annual avg salary for rich/Annual avg education fees
Units: Dmnl
"Age Group (0-14) among Poor"=Poor Chl
Units: people
"Age Group (0-14) among Rich"=Rich Chl
Units: people
"Age Group (15-24) among Poor"=P Students in HQE+P Students in LQE+Child Labor
Units: people
"Age Group (15-24) among Rich"=R Students in HQE+R Students in LQE
Units: people
"Age Group (25-54) among Poor"=HS Poor+SS Poor+US Poor
Units: people
"Age Group (25-54) among Rich"=HS Rich+SS Rich+US Rich
Units: people
"Age Group (55+) among Poor"=Retired HS Poor+Retired SS Poor+Retired US Poor
Units: people
"Age Group (55+) among Rich"=Retired US Rich+Retired SS Rich+Retired HS Rich
Units: people
Annual avg education fees=20000
Units: TL/(Year*People)
Annual avg salary for poor=((Actual HS Employed Poor*annual avg salary per HS emp)+(Actual SS Employed Poor*annual avg salary per SS emp)+(Actual US Employed Poor*annual avg salary per US emp))/(Total Poor SLF)
Units: TL/Year
Annual avg salary for rich=((Actual HS Employed Rich*annual avg salary per HS emp)+(Actual SS Employed Rich*annual avg salary per SS emp)+(Actual US Employed Rich*annual avg salary per US emp))/(Total Rich SLF)
Units: TL/Year
annual avg salary per HS emp=4500*12
Units: TL/Year People
annual avg salary per SS emp=2000*12
Units: TL/Year People
annual avg salary per US emp=1000*12
Units: TL/Year People
Available Total Jobs= INTEG (net job growth rate, 1.28e+007*0+1.35e+007*0+1.4166e+007)
Units: people
Available Total Salaried Jobs=Available Total Jobs*salaried job ratio
Units: people
avg working time=30
Units: Year
base fr=1/15
Units: 1/Year
birth fr for poor chl= WITH LOOKUP (Time,([(2013,0)-(2090,0.04)],(2013,0.018959),(2014,0.018687),(2015,0.018428),(2016,0.018179),(2017,0.017943),(2018,0.017695),(2019,0.017447),(2020,0.017223),(2021,0.016998),(2022,0.016774),(2023,0.016549),(2024,0.016313),(2025,0.016136),(2026,0.015923),(2027,0.015711),(2028,0.015498),(2029,0.015285),(2030,0.015073),(2031,0.01486),(2032,0.014648),(2033,0.014435),(2034,0.014222),(2035,0.014021),(2036,0.013821),(2037,0.013632),(2038,0.013454),(2039,0.013277),(2040,0.013112),(2041,0.012947),(2042,0.012805),(2043,0.012651),(2044,0.012521),(2045,0.01238),(2046,0.012261),(2047,0.012131),(2048,0.012013),(2049,0.011895),(2050,0.011777),(2051,0.011671),(2052,0.011671),(2053,0.011659),(2054,0.011659),(2055,0.011647),(2056,0.011635),(2057,0.011624),(2058,0.011612),(2059,0.011588),(2060,0.011576),(2061,0.011553),(2062,0.011529),(2063,0.011517),(2064,0.011494),(2065,0.01147),(2066,0.011446),(2067,0.011423),(2068,0.011399),(2069,0.011375),(2070,0.011364),(2071,0.011352),(2072,0.01134),(2073,0.011328),(2074,0.011328),(2075,0.011328),(2090,0.01133) ))
Units: 1/Year
birth fr for rich chl= WITH LOOKUP (Time,([(2013,0)-(2090,0.08)],(2013,0.00948),(2014,0.009344),(2015,0.009214),(2016,0.00909),(2017,0.008972),(2018,0.008848),(2019,0.008724),(2020,0.008611),(2021,0.008499),(2022,0.008387),(2023,0.008275),(2024,0.008157),(2025,0.008068),(2026,0.007962),(2027,0.007855),(2028,0.007749),(2029,0.007643),(2030,0.007536),(2031,0.00743),(2032,0.007324),(2033,0.007217),(2034,0.007111),(2035,0.007011),(2036,0.00691),(2037,0.006816),(2038,0.006727),(2039,0.006639),(2040,0.006556),(2041,0.006473),(2042,0.006402),(2043,0.006326),(2044,0.006261),(2045,0.00619),(2046,0.006131),(2047,0.006066),(2048,0.006007),(2049,0.005948),(2050,0.005889),(2051,0.005835),(2052,0.005829),(2053,0.005824),(2054,0.005818),(2055,0.005812),(2056,0.005806),(2057,0.005812),(2058,0.005806),(2059,0.005794),(2060,0.005788),(2061,0.005776),(2062,0.005765),(2063,0.005759),(2064,0.005747),(2065,0.005735),(2066,0.005723),(2067,0.005711),(2068,0.0057),(2069,0.005688),(2070,0.005682),(2071,0.005676),(2072,0.00567),(2073,0.005664),(2074,0.005664),(2075,0.005664
),(2090,0.005664) ))
Units: 1/Year
Child Labor= INTEG (dropouts to CL+working rate as CL-working rate,395000)
Units: people
death fr for poor= WITH LOOKUP (Time,([(2013,0)-(2090,0.4)],(2013,0.027),(2014,0.0273),(2015,0.0276),(2016,0.028),(2017,0.0283),(2018,0.0287),(2019,0.029),(2020,0.0293),(2021,0.0297),(2022,0.0301),(2023,0.0315),(2050,0.0355),(2075,0.045),(2090,0.045) ))
Units: 1/Year
death fr for rich= WITH LOOKUP (Time, ([(2013,0)-(2090,0.04)],(2013,0.0135),(2014,0.0136),(2015,0.0138),(2016,0.014),(2017,0.0142),(2018,0.0143),(2019,0.0145),(2020,0.0147),(2021,0.0149),(2022,0.015),(2023,0.0152),(2050,0.01855),(2075,0.0225),(2090,0.0225) ))
Units: 1/Year
del=1
Units: Year
drop fr from PHQE=1e-005
Units: 1/Year
drop fr from PLQE=0.04
Units: 1/Year
drop fr from RHQE=1e-006
Units: 1/Year
drop fr from RLQE=1e-005
Units: 1/Year
dropouts from PHQE= (P Students in HQE*drop fr from PHQE)
Units: people/Year
dropouts from PLQE=drops*(1-growth fr)
Units: people/Year
dropouts from RHQE=(R Students in HQE*drop fr from RHQE)
Units: people/Year
dropouts from RLQE=(R Students in LQE*drop fr from RLQE)
Units: people/Year
dropouts to CL=drops*growth fr
Units: people/Year
drops=P Students in LQE*drop fr from PLQE
Units: people
eff of poor aff=LOOKUP EXTRAPOLATE(graph of aff, (aff ratio of priv edu for poor/normalized aff ratio))
Units: Dmnl
effof rich aff=LOOKUP EXTRAPOLATE(graph of aff, (affratio of priv edu for rich/normalized aff ratio))
Units: Dmnl
enroll fr among poor=Poor HQ public edu fr+Poor HQ privedu fr
Units: Dmnl
enroll fr among rich=Rich HQ public edu fr+Rich HQ priv edu fr
Units: Dmnl
enroll rate to PHQE=Poor Chl*base fr*enroll fr among poor
Units: people/Year
enroll rate to PLQE=Poor Chl*base fr*(1-(enroll fr among poor+fr of CL))
Units: people/Year
enroll rate to RHQE=Rich Chl*base fr*enroll fr among rich
Units: people/Year
enroll rate to RLQE=Rich Chl*base fr*(1-enroll fr among rich)
Units: people/Year
FINAL TIME  = 2090
Units: Year
fr of CL=0.005
Units: Dmnl
fr of highly skilled jobs=0.2
Units: Dmnl
"fr of semi-skilled jobs"=0.35
Units: Dmnl
fr of unskilled jobs=0.45
Units: Dmnl
grad fr= WITH LOOKUP (Time,([(2013,0.06)-(2090,0.2)],(2013,0.071),(2023,0.077),(2050,0.083),(2075,0.0909),(2090,0.1) ))
Units: 1/Year
grad rate from PHQE=P Students in HQE*grad fr
Units: people/Year
grad rate from PLQE=P Students in LQE*grad fr
Units: people/Year
grad rate from RHQE=
R Students in HQE*grad fr
Units: people/Year
grad rate from RLQE=
R Students in LQE*grad fr
Units: people/Year
graph of aff([(0,0)(3,2)],(0,0),(0.394495,0.0350877),(0.633027,0.254386),(0.816514,0.54386),(0.908257,0.789474),(1,1),(1.11927,1.20175),(1.26605,1.35965),(1.51376,1.55263),(1.75229,1.67544),(2,1.75),(3,1.75))
Units: Dmnl
growth fr=1/3
Units: 1/Year
growth time=3
Units: Year
HS jobs=Available Total Salaried Jobs*fr of highly skilled jobs
Units: people
HS LF ratio=Total HS SLF/Total SLF
Units: Dmnl
HS Poor= INTEG (grad rate from PHQE-retirement rate of PHS emp,987500)
Units: people
HS Poor LF ratio=HS Poor SLF/Total Poor SLF
Units: Dmnl
HS Poor SLF=HS Poor*SLF ratio
Units: people
HS Rich= INTEG (grad rate from RHQE-retirement rate of RHS emp,2.30417e+006)
Units: people
HS Rich LF ratio=HS Rich SLF/Total Rich SLF
Units: Dmnl
HS Rich SLF=HS Rich*SLF ratio
Units: people
LFgrowthfr=("smoothrate-p1"+"smoothrate-p2"+"smoothrate-p3"+"smoothrate-r1"+"smoothrate-r2"+"smoothrate-r3")/Total Labor Force
Units: 1/Year
net growth rate of poor chl=Total Poor Population*birth fr for poor chl
Units: people/Year
net growth rate of rich chl=Total Rich Population*birth fr for rich chl
Units: people/Year
net job growth fr=LFgrowthfr
Units: 1/Year
net job growth rate=Available Total Jobs*net job growth fr
Units: People/Year
normalized aff ratio=1.3
Units: Dmnl
P Students in HQE= INTEG (	enroll rate to PHQE-grad rate from PHQE-dropouts from PHQE,800000)
Units: people
P Students in LQE= INTEG (enroll rate to PLQE-dropouts from PLQE-dropouts to CL-grad rate from PLQE,2.61253e+006)
Units: people
P Students ratio in HQE to P Students=P Students in HQE/Total Poor Students
Units: Dmnl
P Students ratio in LQE to P Students=P Students in LQE/Total Poor Students
Units: Dmnl
PLF ratio=Total Poor SLF/Total SLF
Units: Dmnl
Poor Chl= INTEG (net growth rate of poor chl-enroll rate to PHQE-enroll rate to PLQE-working rate as CL,6.22044e+006)
Units: people
Poor HQ priv edu base fr=0.12
Units: Dmnl
Poor HQ privedu fr=Privatization*eff of poor aff*Poor HQ priv edu base fr
Units: Dmnl
Poor HQ public edu base fr=0.2
Units: Dmnl
Poor HQ public edu fr=(1-Privatization)*Poor HQ public edu base fr
Units: Dmnl
Potential HS Employed Poor=HS Poor SLF*min((HS jobs/Total HS SLF),1)
Units: people
Potential HS Employed Rich=HS Rich SLF*min((HS jobs/Total HS SLF),1)
Units: people
Potential SS Employed Poor=SS Poor SLF*min(("actual # of ss jobs"/Total SS SLF),1)
Units: people
Potential SS Employed Rich=SS Rich SLF*min(("actual # of ss jobs"/Total SS SLF),1)
Units: people
potential unemployed hs poor=HS Poor SLF-Potential HS Employed Poor
Units: people
potential unemployed hs rich=HS Rich SLF-Potential HS Employed Rich
Units: people
potential unemployed ss poor=SS Poor SLF-Potential SS Employed Poor
Units: people
potential unemployed ss rich=SS Rich SLF-Potential SS Employed Rich
Units: people
potential unemployed us poor=US Poor SLF-Potential US Employed Poor
Units: people
potential unemployed us rich=US Rich SLF-Potential US Employed Rich
Units: people
Potential Unemployment among Poor=Total Poor SLF-Total Potential Employment among Poor
Units: people
Potential Unemployment among Rich=Total Rich SLF-Total Potential Employment among Rich
Units: people
Potential Unemployment Ratio for Poor=Potential Unemployment among Poor/Total SLF
Units: Dmnl
Potential Unemployment Ratio for Rich=Potential Unemployment among Rich/Total SLF
Units: Dmnl
Potential US Employed Poor=US Poor SLF*min(("actual # of us jobs"/Total US SLF),1)
Units: people
Potential US Employed Rich=US Rich SLF*min(("actual # of us jobs"/Total US SLF),1)
Units: people
Privatization= WITH LOOKUP (Time,([(2013,0)-(2090,1)],(2013,0.4),(2019.12,0.45614),(2028.07,0.508772),(2039.14,0.557018),(2050,0.6),(2072.63,0.6),(2090,0.6) ))
Units: Dmnl
PTAE ratio=Total Actual Employment among Poor/Total SLF
Units: Dmnl
PTAU ratio=Total Actual Unemployment among Poor/Total SLF
Units: Dmnl
R Students in HQE= INTEG (enroll rate to RHQE-dropouts from RHQE-grad rate from RHQE,1.5e+006)
Units: people
R Students in LQE= INTEG (enroll rate to RLQE-dropouts from RLQE-grad rate from RLQE,1.03835e+006)
Units: people
R Students ratio in HQE to R Students=R Students in HQE/Total Rich Students
Units: Dmnl
R Students ratio in LQE to R Students=R Students in LQE/Total Rich Students
Units: Dmnl
"rate-p1"=(dropouts from PHQE+dropouts from PLQE+working rate)-(retirement rate of PUS emp)
Units: people/Year
"rate-p2"=(grad rate from PLQE)-(retirement rate of PSS emp)
Units: people/Year
"rate-p3"=grad rate from PHQE-retirement rate of PHS emp
Units: people/Year
"rate-r1"=(dropouts from RHQE+dropouts from RLQE)-(retirement rate of RUS emp)
Units: people/Year
"rate-r2"=(grad rate from RLQE)-(retiremet rate of RSS emp)
Units: people/Year
"rate-r3"=(grad rate from RHQE)-(retirement rate of RHS emp)
Units: people/Year
ratep1=("rate-p1"-"smoothrate-p1")/del
Units: people/Year
ratio of salaries=Annual avg salary for rich/Annual avg salary for poor
Units: Dmnl
Retired HS Poor= INTEG (retirement rate of PHS emp-RHSP death rate,549330)
Units: people
Retired HS Rich= INTEG (retirement rate of RHS emp-RHSR death rate,1.10976e+006)
Units: people
Retired SS Poor= INTEG (retirement rate of PSS emp-RSSP death rate,1.72124e+006)
Units: people
Retired SS Rich= INTEG (retiremet rate of RSS emp-RSSR death rate,887807)
Units: people
Retired US Poor= INTEG (retirement rate of PUS emp-RUSP death rate,1.39164e+006)
Units: people
Retired US Rich= INTEG (retirement rate of RUS emp-RUSR death rate,443903)
Units: people
retirement rate of PHS emp=HS Poor/avg working time
Units: people/Year
retirement rate of PSS emp=SS Poor/avg working time
Units: people/Year
retirement rate of PUS emp=US Poor/avg working time
Units: people/Year
retirement rate of RHS emp=HS Rich/avg working time
Units: people/Year
retirement rate of RUS emp=US Rich/avg working time
Units: people/Year
retiremet rate of RSS emp=SS Rich/avg working time
Units: people/Year
RHSP death rate=Retired HS Poor*death fr for poor
Units: people/Year
RHSR death rate=Retired HS Rich*death fr for rich
Units: people/Year
Rich Chl= INTEG (net growth rate of rich chl-enroll rate to RHQE-enroll rate to RLQE3.20447e+006)
Units: people
Rich HQ priv edu base fr=0.4
Units: Dmnl
Rich HQ priv edu fr=Privatization*effof rich aff*Rich HQ priv edu base fr
Units: Dmnl
Rich HQ public edu base fr=0.35
Units: Dmnl
Rich HQ public edu fr=(1-Privatization)*Rich HQ public edu base fr
Units: Dmnl
RLF ratio=Total Rich SLF/Total SLF
Units: Dmnl
RSSP death rate=Retired SS Poor*death fr for poor
Units: people/Year
RSSR death rate=Retired SS Rich*death fr for rich
Units: people/Year
RTAE ratio=Total Actual Employment among Rich/Total SLF
Units: Dmnl
RTAU ratio=Total Actual Unemployment among Rich/Total SLF
Units: Dmnl
RUSP death rate=Retired US Poor*death fr for poor
Units: people/Year
RUSR death rate=Retired US Rich*death fr for rich
Units: people/Year
SS jobs=Available Total Salaried Jobs*"fr of semi-skilled jobs"
Units: people
SS LF ratio=Total SS SLF/Total SLF
Units: Dmnl
SS Poor= INTEG (grad rate from PLQE-retirement rate of PSS emp,3.45625e+006)
Units: people
SS Poor LF ratio=SS Poor SLF/Total Poor SLF
Units: Dmnl
SS Poor SLF=SS Poor*SLF ratio
Units: people
SS Rich= INTEG (grad rate from RLQE-retiremet rate of RSS emp,3.29167e+006)
Units: people
SS Rich LF ratio=SS Rich SLF/Total Rich SLF
Units: Dmnl
SS Rich SLF=SS Rich*SLF ratio
Units: people
TAE ratio=Total Actual Employment/Total SLF
Units: Dmnl
TAU ratio=Total Actual Unemployment/Total SLF
Units: Dmnl
total access to SS jobs for unemployed HS=access to SS jobs for unemployed HS poor+access to SS jobs for unemployed HS rich
Units: people
total access to US jobs for unemployed SS=access to US jobs for unemployed SS poor+access to US jobs for unemployed SS rich
Units: people
Total Actual Employment=Total Actual Employment among Poor+Total Actual Employment among Rich
Units: people
Total Actual Employment among Poor=Actual HS Employed Poor+Actual SS Employed Poor+Actual US Employed Poor
Units: people
Total Actual Employment among Rich=Actual HS Employed Rich+Actual SS Employed Rich+Actual US Employed Rich
Units: people
Total Actual Unemployment=Total Actual Unemployment among HS+Total Actual Unemployment among SS+Total Actual Unemployment among US
Units: people
Total Actual Unemployment among HS=total potential unemployment among HS-total access to SS jobs for unemployed HS
Units: people
Total Actual Unemployment among Poor=Actual Unemployment among HS poor+Actual Unemployment among SS poor+Actual Unemployment among US poor
Units: people
Total Actual Unemployment among Rich=Actual Unemployment among HS rich+Actual Unemployment among SS rich+Actual Unemployment among US rich
Units: people
Total Actual Unemployment among SS=total potential unemployment among SS-total access to US jobs for unemployed SS
Units: people
Total Actual Unemployment among US=total potential unemployment among US
Units: people
"Total Age Group (0-14)"="Age Group (0-14) among Poor"+"Age Group (0-14) among Rich"
Units: people
"Total Age Group (15-24)"="Age Group (15-24) among Poor"+"Age Group (15-24) among Rich"
Units: people
"Total Age Group (25-54)"="Age Group (25-54) among Poor"+"Age Group (25-54) among Rich"
Units: people
"Total Age Group (55+)"="Age Group (55+) among Poor"+"Age Group (55+) among Rich"
Units: people
Total HS SLF=HS Poor SLF+HS Rich SLF
Units: people
Total Labor Force=Total SLF/SLF ratio
Units: people
Total Poor Population="Age Group (0-14) among Poor"+"Age Group (15-24) among Poor"+"Age Group (25-54) among Poor"
+"Age Group (55+) among Poor"
Units: people
Total Poor SLF=HS Poor SLF+SS Poor SLF+US Poor SLF
Units: people
Total Poor Students=P Students in HQE+P Students in LQE
Units: people
Total Poor UER=Total Actual Unemployment among Poor/Total Poor SLF
Units: Dmnl
Total Population=Total Poor Population+Total Rich Population
Units: people
Total Potential Employment=Total Potential Employment among Poor+Total Potential Employment among Rich
Units: people
Total Potential Employment among Poor=Potential US Employed Poor+Potential SS Employed Poor+Potential HS Employed Poor
Units: people
Total Potential Employment among Rich=Potential US Employed Rich+Potential SS Employed Rich+Potential HS Employed Rich
Units: people
Total Potential Unemployment=Total SLF-Total Potential Employment
Units: people
total potential unemployment among HS=potential unemployed hs poor+potential unemployed hs rich
Units: people
total potential unemployment among SS=potential unemployed ss poor+potential unemployed ss rich
Units: people
total potential unemployment among US=potential unemployed us poor+potential unemployed us rich
Units: people
Total Potential Unemployment Ratio=Total Potential Unemployment/Total SLF
Units: Dmnl
Total Rich Population="Age Group (0-14) among Rich"+"Age Group (15-24) among Rich"+"Age Group (25-54) among Rich"+"Age Group (55+) among Rich"
Units: people
Total Rich SLF=HS Rich SLF+SS Rich SLF+US Rich SLF
Units: people
Total Rich Students=R Students in HQE+R Students in LQE
Units: people
Total Rich UER=Total Actual Unemployment among Rich/Total Rich SLF
Units: Dmnl
Total SLF=Total HS SLF+Total SS SLF+Total US SLF
Units: people
Total SS SLF=SS Poor SLF+SS Rich SLF
Units: people
Total UER=
Total Actual Unemployment/Total SLF
Units: Dmnl
Total US SLF=US Poor SLF+US Rich SLF
Units: people
TPP ratio=Total Poor Population/Total Population
Units: Dmnl
TRP ratio=Total Rich Population/Total Population
Units: Dmnl
US jobs=Available Total Salaried Jobs*fr of unskilled jobs
Units: people
US LF ratio=Total US SLF/Total SLF
Units: Dmnl
US Poor= INTEG (dropouts from PHQE+dropouts from PLQE+working rate-retirement rate of PUS emp,5.43167e+006)
Units: people
US Poor LF ratio=US Poor SLF/Total Poor SLF
Units: Dmnl
US Poor SLF=US Poor*SLF ratio
Units: people
US Rich= INTEG (dropouts from RHQE+dropouts from RLQE-retirement rate of RUS emp,987500)
Units: people
US Rich LF ratio=US Rich SLF/Total Rich SLF
Units: Dmnl
US Rich SLF=US Rich*SLF ratio
Units: people
working rate=Child Labor/growth time
Units: people/Year
working rate as CL=Poor Chl*fr of CL*base fr
Units: people/Year
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